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HLA - ABE TR (BEEa—2X) 16,200.004
HLA —Bi#tfs 75 (fE#Ea— %) 13,500.004
HLA—Bi#tfa 78 (EHa—X) 16,200.004
HLA—C# s (JEHEa —R) 13,500.004
HLA - C#Efa 18 (BEaa—X) 16,200.004
HLA —DRB1#/5 74 (o — ) 13,500.004
HLA—DRB1#/& A (F&Ra—X) 16,200.004
HLA—DQA1B 51 (FE#Ea— ) 13,500.004
HLA—DQA1BE I (EEaa—XR) 16,200.004
HLA —DQB1i#& s A (FE#Ea— ) 13,500.004
HLA—DQBL#&a L (E&a—XR) 16,200.004
HLA —DPA1E/ s A (o — ) 13,500.004
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T-Cell4y T (EA=—R) 13,200.004
B-Cell5y i (= — %) 11,000.004
B-CellZy i (EA=—XR) 13,200.004
NK-CellZy i (FE#Ea— ) 32,000.001
NK-Cell53 i (ELa—2R) 38,400.001
a7 7— U4 (E R — %) 11,000.004
~ a7z y—U 0l (BEET—X) 13,200.004
U oRERSy ] (B —R) 8,000.001
Vo RERG I (BEEa—R) 9,600.00
HLAZF A 1 FUEARIY—=0 7 (FEdE— ) 11,000.00F4
HLAZZ A 1 FUKAI)—=2 7 (BEAT—R) 13,200.004
HLAZ AT HUEARI Y —=0 7 (FEHE— ) 11,000.00F4
HLAZZ AN HULAI)—=2 7 (EAT—R) 13,200.004
HLAZZA T HiiR[EE BEHEa—X) 22,000.001
HLAZZA T HUiR[EE (BEaa—X) 26,400.001
HLAZZ AT HLiR[EE (BEHEa—X) 22,000.001
HLAZZ AN HLiR[EE (BEaa—X) 26,400.001
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HLAFIRE R F R L LM B (1 27-Y)

HLABHE 7RIZ A7 (NGSTE) (HE#Ea— ) 54, 450. 00 ] OB, HEFLK OHL T EL 4, 950. 00 [9)
HLA—A, B, C, DRE&E T (4 k) (fEHEa—X) 43, 450. 00 M (55, {HEBLL OHLGHESL 3, 950. 00 [4)
HLA—A, B, C, DREE T (4 k) (Efaa—2R) 52, 140. 00 I O, HEFLK OHL HERL 4, 740. 00 [9)
HLA—AB{R T (i — =) 14, 850. 00 1 (O, {HEBLKL OHUGHESL 1, 350. 00 9)
HLA—ABE T (FERa—=3) 17, 820. 00 1 (O, HEBLL OHUSIHEBL 1, 620. 00 1)
HLA—BER T8 (I HEa— %) 14, 850. 00 1 (O, {HEBLKL OHUGHESL 1, 350. 00 9)
HLA—BEs 7 (Ea=a—2) 17, 820. 00 1 (O, HEBLL OHUTIHEBL 1, 620. 00 1)
HLA—C#fs 71 (i — =) 14, 850. 00 1 (O, {HEBLKL OHUGHESL 1, 350. 00 9)
HLA—C#fz 7 (FER=—=) 17, 820. 00 1 (O, HEBLL OHUIHEBL 1, 620. 00 1)
HLA—DRBI1&{5 18 (= — ) 14, 850. 00 M (O, {HEFB K OHUGHESL 1, 350. 00 M)
HLA—DRBIE/R T (E@a=a—2) 17, 820. 00 1 (O, HEBLL OHUTIHEBL 1, 620. 00 1)
HLA—DQALE{R 7! ({2 —X) 14, 850. 00 1 (O, {HEBLKL OHUGHESL 1, 350. 00 )
HLA—DQALER T (ERaa—X) 17, 820. 00 1 (O, {HEBLL OHUTIHEBL 1, 620. 00 1)
HLA—DQB1i# s 78 (F 2 — =) 14, 850. 00 M (5, {HEBL K OHITHESL 1, 350. 00 M)
HLA—DQBL#{E T (FEo=a—2) 17, 820. 00 [ O, {HEBLK OHIGHERL 1, 620. 00 M)
HLA—DPA1E s 758 (e — =) 14, 850. 00 M (b, {HEBL K OHITHESL 1, 350. 00 M)
HLA—DPALBE T (FR=—=2) 17, 820. 00 1 (O, {HEBLK OHU51HEBL 1, 620. 00 M)
HLA—DPBLIE/{A 7R (= — %) 14, 850. 00 [ (O, {HEBL K OHIGHESL 1, 350. 00 M)
HLA—DPBLER TR (ERaa—X) 17, 820. 00 1 (O, {HEBLK OHU51HEBL 1, 620. 00 M)
F a7 —2 (HLA—DRB1, DQB1EH A T-HHT) (fE = —2) 29, 700. 00 { OB, HEBKL OHITHEFRL 2, 700. 00 )
FaL 7 —2 HLA—DRB1, DQBLEHE T HBRE) (FLha—2R) 35, 640. 00 1 O, HEBLK OHL7 1 RL 3, 240. 00 )
Bl f% % AY R L (fE e — ) 30, 250. 00 F Ob, HEBIK O HITIHEFRL 2, 750. 00 )
Bl F AR L (BEfaa—2X) 36, 300. 00 1 (O, HHERLK OHLFTHERL 3, 300. 00 )
T-Cell5y 1 (fE = — %) 12, 100. 00 [ OB, {HEFL K OHIGHESL 1, 100. 00 M)
T-Celly i (Ea=a—2A) 14, 520. 00 [ (OH, HEBLK OHUFHEBL 1, 320. 00 M)
B-Cell5y Ml (fF 1 — =) 12, 100. 00 [ OB, {HEFL K OHIGHESL 1, 100. 00 M)
B-Cell/y ] (FER=—2) 14, 520. 00 [ (O, HEBLK OHLUFHEBL 1, 320. 00 M)
NK-Cell 53 B (FE #z—2) 35, 200. 00 [ OB, HEBK OHITHEFRL 3, 200. 00 )
NK-Cell5y i (FEo=—2A) 42, 240. 00 M (55, HEBILL OHUGHEBL 3, 840. 00 M)
~ a7 y—U 5y (T — ) 12, 100. 00 1 (O, {HEBLL OHUGIHESL 1, 100. 00 1)
~ /a7y —U0 M (BAa—2A) 14, 520. 00 [ (O, HEBLK OHLUFHEBL 1, 320. 00 M)
U 7SR Gy ) (B —R) 8, 800. 00 [1 OL, HEBLKL OHILTHERL  800. 00 1)
UL RER Gy (B Ra—R) 10, 560. 00 1 O6, {HEBLK OHUGEEBL  960. 00 )
HLAZZA 1 HUEAZ)—=2 7 (I — ) 12, 100. 00 [ OB, {HEFLK OHIGHESL 1, 100. 00 1)
HLAZZ A 1 Btk A7 —=0 7 (B aa—2A) 14, 520. 00 [ (Oh, HHEBLK OHT B 1, 320. 00 1)
HLAZ ZAMHUEAZ ) — =27 (IR — %) 12, 100. 00 [ OB, {HEFLK OHIGHESL 1, 100. 00 )
HLAZZ AN itk A7V —=0 7 (B aa—2A) 14, 520. 00 [ (5h, {HHEBLK OHT B 1, 320. 00 1)
HLAZZ A T HFUERIE Bz —2) 24, 200. 00 1 OB, HEFLK OHLFHEERL 2, 200. 00 )
HLAZZ A 1 HUARIE (BERa—A) 29, 040. 00 [J O, HAFLK OHILHEFRL 2, 640. 00 [9)
HLAZ Z AT HFUARIE Bz —2) 24, 200. 00 7 OB, HEFLK OHLF R 2, 200. 00 )
HLAZ Z AT HUARIE (BERa—A) 29, 040. 00 [J O, HABL K OHIFTHEFRL 2, 640. 00 [9)




